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QUESTION 1

If the following statement is executed:

CREATE TABLE tab1
(c1 DATE,
c2 INT,
£3 INT,
c4 DOUBLE,
5 DOUBLE GENERATED ALWAYS AS (33 + c4),
CE INT GENERATED ALWAYS AS (MONTH(C11))
ORGANIZE BY DIMENSIONS (c2, c5, c6)

What indexes will be created for table TAB1?

A. 1 dimension-block index and 1 composite-block index

B. 1 dimension-block index and 3 composite-block indexes
C. 3 dimension-block indexes and 1 composite-block index
D. 3 dimension-block indexes and 3 composite-block indexes

Correct Answer: C

QUESTION 2

Which statement about the db2pd tool is true?

A. It may retrieve data that is not completely accurate.

B. It collects information from the log buffer and active log files.

C. It ensures that information is not retrieved on changing data.

D. It collects information from the snapshot monitor and a predefined set of event monitors.

Correct Answer: A

QUESTION 3

You want to modify an existing view so that any rows that are inserted or updated with the view will not violate the
SELECT statement that was used to create the view. What should you do?

A. Alter the view and add the ENFORCE SELECT clause to the view definition.
B. Drop and recreate the view with the WITH CHECK OPTION clause specified.

C. Alter the view and add the WITH CHECK OPTION clause to the view definition.
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D. Create a new view with the same name and the ENFORCE SELECT clause specified.

Correct Answer: B

QUESTION 4

Which command is used to export connectivity configuration information from a file known as a configuration profile?
A. db2ca

B. db2cfexp

C. db2cfimp

D. db2cfgexp

Correct Answer: B

QUESTION 5

Which two conditions must be met before Automatic Dictionary Creation (ADC) can be used to generate a compression
dictionary for a table? (Choose two.)

A. The table is not a system temporary table.

B. The table contains a sufficient amount of data.

C. A table-level compression dictionary does not already exist for the table.

D. A page-level compression dictionary does not already exist for the table.

E. The table does not have any indexes defined on it that have not been enabled for compression.

Correct Answer: BC
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